2008/10/26 IRTE

20084 BAREE Yy h—H TN —J (R F) BRE-HBR

HT MM~ B

by TU—T (%)

= B fE *HE - HER 215 & S5 B fE =15
EPN = YA PN 1 9868 (1) 14:00 |  ESR#H
9H238 (X -#7) * PRRER 6 (3-0) 0 RHK X (EROEG) 1 9A78 (R) 1400 | ERR#RH
98 28H (RA) 17:30 m X 5(3-3)5 TIPS RE X (RALG) 2! 9A28E(A) | 1400! KL
98 28H (RA) 16:30 =P 5 (5-0) 1 REX MAEKX(FELFRG) |21 9A288(H) {1130 #HRF#H
108228 (5k) 17:30 1 UhIX - AHK UhIHBRAR—YKRG |3 10A58 (A) 14:00 K58
108198 (H) 10:00 =P 4(1-0) 0 TIPS EEA(FELGRRG) |31 10A58(H) 111301 REH2
108128 (8) 10:00 =P 2(0-2) 2 VA PN A aEER (RAG) 41 10AN1A(L) | 14:00 KEB
108198 (H) 11:00 PREER 2(0-2) 3 VRPN X (EROEG) 51 10818E (L) | 1400! EBR#MH
108198 (H) 16:10 B X 5 (3-0) 1 RHK RIRZE KR (HRG) 51 10A18E (1) 1| 1400! #EEEL
PREXR - TN 61 10H25A (L) | 1400 #EBR#KH
UhIK = AR 61 10A25A (k) | 1400: FEFEWHE
E3[iPN - UhIX 7 11A28(A) 11:30 ) RESH?2
1PN - REK 741 1MASH(A-H) | 1400} #HBERKM
UhIX = TN 8 11A8HE (1) 1400 1 SHERS
VAP N - REX 8 11H8A (L) 14001 EREEF2
PRER - B X 8 11A9B(R) 1400 f 2=/\—
UhX = B X 91 MAA(L) 114001 #HEEKH
E3[iPN - B X 10} 11A248 (A-#) | 11:30 PRI
REX = UhIk 101 11A248 (A-#) | 14:00 TR
ZHITPN - AR 1y 11A298 (L) 1 11:30 7 #EBR&MH
UhX = 22PN 111 11A308(H) 11307 REH2
PREXR - ESFiEPN 1} 11A308(H) {1400f KEE2
X i ax AESHREREBHLET.
XKEFEIEETREr PETIA
ESLEPS - AKX * (FOREIIbTORER T BER
ERYET,
vhA _ R SLABOEEL. PEFEATE
- ~ P ggggﬂiﬁfib)ﬁﬁéﬁﬁbﬂ'
CREOEICITFOEBFEEYvH—
ZAIIpN - *BEB K ERFTERLEHLELEZEL,
SRS - HEAX Bﬁﬂbgﬁggg—mo
K#HK = *EEA K 10/88 ATRBMOMEKIHETSMO A, BENSHIRLELL

(10/26411)



